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homework solution

(Emma Fitzgerald)
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consensus & data structures

Victor: Paxos Manfred: DHT
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consensus
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agreement
all correct processes end up with the same value

termination
all correct processes will eventually make a decision

(strong) validity
the value decided upon is one of the input values

weak validity
if all processes receive the same input value, 
all correct processes will decide on it
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2PC (two-phase commit)

P1

P2

P3

P4

P5

v

propose(v)

vote(Y|N)
commit()/abort()

agreement?
validity?

termination?

robustness?

phase 2
commit or abort

phase 1
propose & vote
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3PC (three-phase commit)
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v

propose(v)

prepare(
)
| abort()

vote(Y|
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ack() done()

commit()

phase 2
prepare to commit or abort

phase 1
propose & vote

phase 3
commit

agreement?
validity?

termination?

how does robustness
differ from 2PC?
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